3 A

B B R M R G

e RER LK EIMERANE

L — L\ P 4E A
4




£) BEE

AT

=R

P
e

B BRI NERRNE
EPRL. S¥¥uma /R i rpit)— 2
1,005¢

=

e

A s




—a

HY =

EER, EREYBHRBIRENLBANEM, T5
HERFHRNXWEN, HHES KBEWER, Ri14
REVFOTRMELINAREE, BB T2 HE & 5 X 4
1980—19844F %, R, ABESAEMNE—RE M B 2
£, FRORM, HEINSH, FELSERIHEN.

BRRBEXSNERANE

—NEER A



H

% iR |
mw@mﬁg%ﬁﬁgﬁ%mmmmmmmmmmm(1)
1981 T 2R E L REBRG e (12)
19824E W+ SRR A B RFBRLG - ooooeeerereee (26)

wwﬁmiﬁﬁmﬁggaﬁgﬁgmmmmmm,(“)
1984¢@3i’5&ﬁﬂh§35§‘ﬁ§§ﬁ%"'"""""""“" ( 56 )

1980E R A X R EIBRBEEER oo (77)
m&ﬁmf%&m%i%ﬂ%%ﬁﬁﬁ%%ﬁmmm(M)
1982 R+ %R A EREFRESHERL (88)
1983 F R EEREEFRBEHER - (89)
19844E B L BB R A X RN EBERESHER - (93)
—. R &
1980@&%&%3&%1‘5&% weeneees (97)
1981 BT 1= 22 (T F 0 A B R ARE R oo vee e oo (105 )
wwﬁmiﬁﬁm%&%ﬁm%ﬁ%mmmmmmmﬁw)
mu@@i%ﬁmﬁiﬁﬁm%ﬁ%- wee-(138)
mwﬁﬁ%i%ﬁﬂﬁﬁ@?%&%&ﬁﬁh& ------ (155)

1



% .

mﬂ¢m¢%mm%¢%am%W@@%%$

PLRETA S 3 R - (162)
1982 B U BF 50 2 B R IB R B R 25 %

BB kR e e e (171)
w%@ﬁi%ﬁﬂ%&%ﬁﬁ%ﬁﬁ%%%%

B VE5r b - seeeneeeee(180)
wu@@i%ﬁﬂﬁé%ﬁ&%ﬁ@ﬂ%ﬁﬁ

Rﬂaﬁhﬂﬁ teessenenane s "'(187)

= B &

lggofgﬁfﬁi%ﬁtﬁl‘gﬁ% . (192)
wm@ﬁi#ﬁﬁ%&%ﬁﬁﬁﬁ#m~-~--mu%)
1982$mi$ﬁm%§%ﬁm§a#m. reeveeennn (209 )
1983 L 2 MR L E R HIBERE e (218
19845E ML 2 MR AEERHBRS - ++(230)
ww@mniﬁﬁﬂﬁﬁﬁéﬁgiﬁﬁﬁ

.- ceerean ..(242)
19814 42 uﬁné%ﬁﬂﬁﬁﬁé%ﬂxﬁwﬁ

W e - (248)
wm$@i%mwné%ﬁﬂﬁﬁﬁa%ﬂ$

- RS ERE.- serneeene e (255 )

w%$ﬁi%&ﬁ%&%ﬂﬁ%ﬁﬁﬁ%K$ :

B 5 b - ‘e ---,---(26() )
w&@@i%ﬁﬂn&%ﬁﬁﬁﬁ@ﬂ%xi. S

RS RRE- rreseeeeneene (266 )



T
]
. .

— NOEMRAEFREFERE

I. ZFBMAAPEE - EABIAZE, (RAMR
5%, ®ME+S) .
(LR HBRABHRE—AEE, SHERFHH)

to,

at, instead of, from, of, with, on, among,

between,because of ;about,for,into,with regard

to,
10
2.

3.

over »

The findings are far satisfactory.
We shall divide the work__ us research
workers,

The rainy season in that country varies

3-4 months,
They have never heard such an
invention, _
We must pay attention the latest

development of the situation,

The newly-installed control computer will

soon be p_ut“____w_use.

The news which I am going to tell you
is rather serious, _

The engineer seemed to know what the siga

stood . .



9.

10,

The machine tool went out of control
3 mishandling,

Don't be satisfied what you have
achieved,

I. ARAshAMEYRERESHEAZA: (FXEHX10

5,

M7E25, REEEB1H)ER.: FEREN

HE-AER, SHERAES)

1-

2.

Those who'd like to visit the exhibition_

_____(sign) your names here,

A great number of small power stations
(set up)in their county since libe-

ration,

He asked me whether my brother

(fly)to Beijing,

He fell asleep immediately last night; he

must (be)very tired, '

“Have you moved into the mnew flate ”

“Not yet, The rooms (paint), ”

The director recommended that she .

(study)more English before going abroad.

The teacher told them since light

(travel) faster than sound, lightning

(appear)to go before thunder,

How long they  _ (dig)the
ditche
He refused to tell us whether he _

2 ]



(undertake)the job,
. AFAsHARELSER (FAEX. 4. 348 ) ®A
BEE-AER, SHERTRY)

1, Matter is the name (give)to every-
thing which has weight and occupies space,

2. I shall never forget (meet)late
Premier Zhou during his inspection of our
factory, .

3. 1 wonder if he could get it - ~ (do)
before tomorrow,

4. Night (fall), we hurried home,

5. A beam of light will not bend round
corners unless (make)to do so with
the help of a reflecting device,

6. We were busy (get)things ready for

the trial prodiuction when he phoned us,
7. Some molecules are large enough
(see)under the electronic microscope,
8. The floor does not look so bad when_

(sweep)clean,
9. (fail)several times, they need some
encouragement,
'10,. (catch)in the rain, he wasA wet to
the ‘skin, '

V., #ERs, (RXERI5S, SE19) EFETHH
. 3 .



A,

B, C, DUAERS, HFRIABREGERERE

“‘O7 . (EE. EBARHE-AER, SHRERD

B/a)
). He * me that he decided to leave on
Monday.
A spoke B said C talked (D) told
1. This test a number of multiple

6'

L4

choice questions,

A composes of B composes in
C consists of D consists in
She writes as ___as her sister,

A clear B more clear C clearly

D most clearly

1 prefer this diagram that one,

A than B more than C rather than
D to

I‘have been studying here for four yearé,
by next summer J_ - .

A shall graduate B shall be graduated
C shall be graduating

D shall have graduated

Hardly had he finished his speech _
the audience started cheering.

A and B when C than D as
I wish you  like that,

A don’t talk B won’t talk

4 .



C wouldn’t talk D not to talk

7 . Only when you have obtained sufficient

data come to a sound conclusion,
A can you B would you
C you will D you can

8. 1 found to answer all the questions

within the time given,
A no possibility B there was impossibility

C impossible D it impossible
9. You * go now, It’s getting late,
A had rather B would rather
C had better ' D would better
10. Hot metal ' as it grows cooler,
A contracts B reduces »
C condenses D compresses

11. Wood does not conduct electricitys
A so doesn’t rubber B also doesn’t rubber

C nor does rubber D nor rubber does

12, Comrade Li be in Beijing because
[ saw him in townonly a few minutes ago.
A mustn’t B can’t
C may not o D isn’t able to
13. 1 know it isn’t important but I can’t help
about it, >
A but to think B thinking
C think - D to think

. 5 .



14, The more we looked at the picture,
A the less we liked it
B we like it less C better we liked it
D it looked better
15, To succeed in a scientific research project
A one needs to be persistent
B persistence is needed
C one needs be a persistent person
D persistence is what one needs
V. BB, (ZAE#54%, §H145) TEATHE
A, B, C, DmgbRI&#msy, E%M%E%}%B‘J ALk 1
L O, (BE. FERERE AR, SHEE
AR5 )

#l, It is very kind of you to supply me with

A , B
so many informations,
C D)
1. Never before has so many people in our
A B C

country been i_n_t_eie_s:c_eg_i_ri athletic sports,

D

2. Those of us who work in that chemical

A B~ C

plant should have their lungs X-rayed,
D



. éitgr the traffic accident he laid in bed

A B
for two weeks, waiting for his wound
C
to heal,
D

. We advice him to give up smoking and do

A

a lot of exercises,

The principal reason for the great number

A

of smoke is that there are too many
' D

factories in the city,
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1)

The life of Albert Einstein is a model in many
ways for both natural and political scientists.

First of all, he always employed the scientific
method of secking truth from facts, He firmly
beliecved as he put it, that “there is nothing in—
comprehensible about the universe,” and through
painstaking work, expiained many of the pheno—
mena thought to be “incomprehensible” in hijs day,
Einstein was also never afraid to admit mistakes
when faocts proved his theorjes wrong,

Second, Einstein’s contributions showed the
great importance of theoretical work to scientific
effort., Although he himself rarely worked in labo-
ratorics, the concepts he developed led to many of
the scientific advances which have shaped modern
technology,

Third, Einstein believed very deeply that scien—
tists must have a moral and social consciousness,
In this way, he provided inspiration for a whole

- generation of scientists who became active in the

. 8 .



Communist movement,

Einstein is often portraved in bourgeois wri-
tings as a “genius” whose theories are so compli~
cated that no oue but a few best scientists can
understand them.But he himseli rejected the efforts
to put him in a positioa far above other people,
He was well known for his humble manner and
often gtréssed to interviewers that his accom-
plishments would certainly have been achieved by
others had he never lived.

Actually, Einstein’s theory of relativity and
lis other scientific works are not that hard to
understand with a little study. But beyond lear—
ning Einstein’s theories, his overall attitude
towards sciencé as a tool to liberate hun%anity is
something from which everyone can and should

learn,

(2)

Between now and the end of the century,
there will be many exciting developments
and also many difficult problems to deal with,
Perhaps the most urgent problem is to provide
enoughvfood. The world’s population is expected
to reach 7,000 million by the year 2,000, but
already scientists have produced new and better

. 9 .



varieties of wheit and rice and animal, They
have also been experimenting with techniques of
cultivating plants by using mixtures of chemi-
cal compounds and water only, and then there
will be no need for ordinary soil, Another pro-
blem which the world will face is to get rid of
refuse(f#E#). One solution is to burn refuse at
‘very high temperatures in incinerators (34Li).
A development of this, which may prove very
useful in the future, is to use these insinera-
tors to generate steam power, In fact, any new
source of energy will be very welcome, as there
is already a shortage of petroleum, To solvethe
encrgy problem, scientists will probably also try
to make more use of solar energy,

The possible effects of some scientific fields,
such as lasers and cryogenics(f£iR%2), are diffi-
cult to imagine and both already have a number
of uses, The super—cooling effects of the cryo-
genics which convert liquid helium (ZAE4) and
other gases into “superfluids” and métals into
“supcrconductors” , making them non-resistant
to eclectricity, could change the world in a num-
ber of ways, The laser, with its beam of strong
light, can drill a hole in a diamond, and yet can
be so well controlled that it can be used in

v 10 -



delicate eye operations. The question is whe-
ther it will be most used for peaceful purposes
or as a deadly weapon,

But perhaps the most remarkable devefoph
ments will occur in space flight, One of the
" difficulties in the past has been the high cost,
but now the space shuttle is being developed,
and can be used a large number of times instead
of only once, Already man has been to themoon,
Perhaps by the end of the century he will have
had a close-up view of Venus(4B)or Mars (kK R).
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I. In each question, decide which of the five

choices given would most suitably complete the
sentence, Circle the letter before your choice

Only oae choice is to be marked, (14 points)
Example: A
The guests said that they wouldn't mind .
A, to have a little light music
(B), having a little light music
C. have a little light music
D, if they have a little light music
E. that they have a little light music

1. She has been working in this factory .
A. after 1968 B. in 1968 C, since 1968

D. for 1968 E. until 1968

2., We can't understand why he avoided to

us,
B. speech

A. to speak
D. speaking

C. having spoken
_ E. to have spoken
3. I am interested in you have told me,

e 12 »



